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1. (A) 100             . 14 

  ..  

  – X 70 5 
0.04 

  – Y 120 7 

  (1) Y  X,  X  Y    . 
  (2)     50(X = 50)       

(Y)   . 
  (3)     100(Y = 100)       

(X)   ? 

  (4)        . 
 

   X   Y    .   , 

Test – X 32 34 28 29 26 31 42 35 28 25 

Test – Y 39 33 30 31 32 36 41 49 46 43 

  (1) Y  X,  X   Y    . 
  (2)  X = 30  , Y  Y = 35   X    . 
  (3)        . 

 (B)     : ( ) 4 

  (i)         . (/)  
  (ii)         . (/) 
  (iii)        . (/) 
   (iv)    . (/) 
  (v) +1.00      . (/) 
  (vi)        . (/) 
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2. (A)             .  
          . 14 

   

85-89 5 3 

80-84 7 5 

75-79 10 7 

70-74 15 10 

65-69 17 6 

60-64 0 5 

55-59 6 4 

 60 40 

                
       -      

  0.05   . 

    

25 1 

25 1 

24 0 

23 1 

25 1 

26 1 

24 1 

25 0 

22 0 

23 0 

26 1 

23 1 

23 0 

25 1 

29 1 
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 (B)     : ( ) 4 

  (i) -      . (/) 

  (ii)       . (/) 

  (iii) -   p = 0.55   q = 45 .  (/) 

  (iv)          . (/) 

  (v) --   ________ . (mpbis/rpbis) 

  (vi) --    N1  N2  50  70   p  

q     ?  

 

3. (A) . 10    A, B  C      

 .    RC(A, B)  .  14 

 A B C 

A – 0.67 0.47 

B – – 0.35 

C – – – 

              

       R1 (2, 3, 4) . 

  r12 = 0.90, r13 = 0.75, r14 = 0.80 

  r23 = 0.70,  r24 = 0.70, r34 = 0.85 

 (B)     : ( ) 3 

  (i)               

_______     . (/) 

  (ii)      . 

  (iii)      ? - ? 

  (iv) 0.01      ()    . 

     (/) 

  (v)              

  . (/) 
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4. (A)       :  14 

  (1)      (rt)  . 

 – Y 
  

 – X 

 

  

   30(A) 25(B) 

  20(C) 45(D) 

 

  (2)   -1  -2   ‘’  ‘’    
   .          
  0.05   . 

-2 
-1 

  

 115 (B) 125 (A) 

 100 (D) 60 (C) 

  (3)            
-         ? 

-  
  

   

  20 40 30 

  30 80 40 

  15 25 20 

 (B)     : ( ) 3 
  (i)   x2

c    x2        
__________  . (/) 

  (ii)     . (/) 

  (iii)   ______       (C)   .  
     (/  ) 

  (iv)       ? 

  (v)       ? 

_____________ 
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1. (A) The following are the data obtained by 100 students on anxiety test and aptitude test : 14 

 Mean S.D. R 

Anxiety Test-X 70 5 
0.04 

Aptitude Test-Y 120 7 

  (1) Develop equations to predict X on Y and Y on X. 

  (2) Predict the probable aptitude score (Y) of a student whose anxiety score is 

50(X = 50). 

  (3) What will be the probable anxiety score (X) of a student whose aptitude 

score is 100(Y = 100) ? 

  (4) Calculate the standard error of both estimated values and draw inferences. 

OR 

 (A) Given below is data pertaining to Test X and Test Y. On the basis of this data : 

Test – X 32 34 28 29 26 31 42 35 28 25 

Test – Y 39 33 30 31 32 36 41 49 46 43 

  (1) Develop equations to predict X on Y and Y on X. 
  (2) If X = 30, calculate the estimated value of Y, and if Y = 35, calculate the 

estimated value of X. 
  (3) Calculate the standard error of both estimated values and draw inferences. 
 (B) Answer the following questions : (Any four) 4 
  (i) Data is presented in an organized form through descriptive statistics.  
     (True/False)  
  (ii) In Statistics, Regression refers to the relationships between two paired 

variables.  (True/False) 
  (iii) Francis Galton was the first to use the term regression.  (True/False) 
   (iv) State the meaning of Prediction in Statistics. (True/False) 
  (v) +1.00 correlation is a positive perfect correlation.  (True/False) 
  (vi) It becomes possible to make predictions using the regression equation. 
     (True/False) 
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2. (A) The following distribution of score was obtained from males and females on an 

achievement test, Calculate Biserial Correlation Coefficient from this data and 

test the null hypothesis. 14 

Score Males Females 

85-89 5 3 

80-84 7 5 

75-79 10 7 

70-74 15 10 

65-69 17 6 

60-64 0 5 

55-59 6 4 

 60 40 

OR 

  Calculate point biserial coefficient of correlation from the data given bellow, and 

test the null hypothesis at 0.05 level of significance. 

Test Scores Item Scores 

25 1 

25 1 

24 0 

23 1 

25 1 

26 1 

24 1 

25 0 

22 0 

23 0 

26 1 

23 1 

23 0 

25 1 

29 1 
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 (B) Answer the following questions : (Any four) 4 

  (i) Biserial Correlation method is a Non-parametric method.  (True/False) 

  (ii) Null hypothesis is a hypothesis of a difference being present.  

     (True/False)  

  (iii) In biserial correlation if p = 0.55, than q = 45.  (True/False)  

  (iv) When calculating value is significant, Null Hypotheses is accepted.  

     (True/False)  

  (v) The short-name of the point Biserial Correlation is _______. (mpbis/rpbis) 

  (vi) In terms of point Biseral correlation, if N1 and N2 are respectively 50 and 

70, then what is the value of p and q ?  

 

3. (A) Std. 10th students Coefficients of correlation between scores on tests A, B and C 

are as follows. Calculate the RC(B, C).  14 

 A B C 

A – 0.67 0.47 

B – – 0.35 

C – – – 

OR 

  Calculate multiple correlation R1 (2, 3, 4) from following data. 

  r12 = 0.90, r13 = 0.75, r14 = 0.80 

  r23 = 0.70,  r24 = 0.70, r34 = 0.85 

 (B) Answer the following questions : (Any three) 3 

  (i) When the effect of one variable is eliminated finding a correlation between 

the two variables is called _______ order partial correlation.  (First / second) 

  (ii) State names the methods of finding advanced correlation.  

  (iii) How many types of partial Correlation ? Which ? 

  (iv) 0.01 significant levels can be called the most reliable (Higher) level of 

significance.  (True / False) 

  (v) Multiple correlation is the relationship between one dependent variable and 

two or more independent variable. (True / False) 
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4. (A) Calculate any two of following :  14 

  (1) Compute Tetra choric Correlation(rt) from the table given below : 

Variable-Y 

Social adjustment 

Variable-X  

Salesmanship 

Successful Unsuccessful 

Well adjusted 30(A) 25(B) 

Poorly adjusted 20(C) 45(D) 

 

  (2) Shown below are the number of persons who answered ‘Yes’ or ‘No’ to 

question 1 and question 2 of a questionnaire. Calculate the Phi-coefficient 

of correlation from this Data and test the null hypothesis at 0.05 level of 

significance.  

Question – 2 
Question – 1 

No Yes 

Yes 115 (B) 125 (A) 

No 100 (D) 60 (C) 

  (3) Calculate contingency correlation co-efficient from the frequencies given 

below and find out if level of Socio-Economic status(SES) significant 

relationship with Marital Adjustment ?  

SES 
Marital Adjustment 

High Moderate Low 

High 20 40 30 

Moderate 30 80 40 

Low 15 25 20 

 (B) Answer the following questions : (Any Three) 3 

  (i) If the calculated x2
c value is bigger than Tabulated x2 value, the null 

hypotheses is __________. (Accepted / rejected) 

  (ii) The Phi coefficient has shown correlation.  (True / False) 

  (iii) When the data are in ______ categories can be used contingence of 

coefficient (C).  (two / more than two) 

  (iv) When Tetrachoric correlation becomes useful ? 

  (v) When Phi-coefficient becomes useful ? 

_____________ 


